Hl = 0Ol & AF & H A N
2010E S 204 LBHE N ALY ~ XD}
S ALE MY
I oK Y TAN
ool AL X (e &2
SA - SR(E) - HRAY - BES 0 & 24 e HIRE
2 ™= 48,053,786 45,179,355 2,874,431
=2 918,000
2 45,406,450
[ 1,729,336
F Xl Y TAINY 43,215,750 41,118,750 2,097,000
2 42,067,750
= 1,148,000
AL™H 1|2 128,000 171,750 43,750
ALHH PLAY FH 128,000 171,750 43,750
201 Yer29y| 42,000 59, 150 A17,150
01 AtR22lb| 42,000 27,150 14,850
OALHM poA3 S 2 42,000
202 01| 10,000 10,000 0
01 =LHOIHI 10,000 10,000 0
OFS0& & =X 10,000
203 A2 EZY| 76,000 75,600 400
03 AlBZ=ZQR =T 76,000 75,600 400
OBIOIAIY L SOCEE FHEEZ 40,000
OM4E 0|F L XNY2A AR=T 20,000
OALDE ABEZ 12,000
OALEM AREX 4,000
SHIA N 38,530,750 39,272,000 AT741,250
2 37,510,750
[ 1,020,000
WH2Y BT AN 1,888,750 7,080,000 A5,191,250
2 1,888,750
401 Al&HIZ 2] 1,888,750 7,080,000 A5,191,250
2 1,888,750
01 Al&H| 1,879,990 6,775,560 ~4,895,570
OwR220ZT2 1,879,990
2 1,879,990
03 Al&=0ib| 8.760 21,240 A12,480
OwR220ZT2 8.760
2 8.760
MRISAITIB SN MNYER 214 8,167,000 18,492,000 £10,325,000
2 8,167,000
401 Al&HIL 2] 8,167,000 18,492,000 ~10,325,000
2 8,167,000
01 Al&H| 7,670,000 17,627,000 9,957,000
OWRAAS S MAT2 7,670,000
2 7,670,000
02 22l 477,000 815,000 338,000
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ol SHXIS M (sl &2
SN (B) - MBEAY - B2 0f Ao S HRZS2
OYHHAAMSESHA] JLEZ 477,000
2 477,000
03 AIEZ20Hb] 20,000 50,000 30,000
OYHHAAMSEHA] JLEZ 20,000
= 20,000
JIOkAE =8t g H4A 4,600,000 500,000 4,100,000
= 4,600,000
401 AlEHI Y20 4,600,000 500,000 4,100,000
= 4,600,000
01 Al&HI 4,231,000 274,000 3,957,000
OJtotaE =8t =2 4,231,000
= 4,231,000
02 Ze2ldl 350,000 210,000 140,000
OJIotaE =8t =2 350,000
= 350,000
03 AIAE20HYI 19,000 16,000 3,000
OJIotaE =8t =2 19,000
= 19,000
HESXX 7 OHE XA 21,455,000 12,500,000 8,955,000
= 21,455,000
403 XX SHSIH20l A 21,455,000 12,500,000 8,955,000
2 21,455,000
01 AXESHMAZ2EE 21,455,000 12,500,000 8,955,000
OIWL=XX 7 ML (3AI2) 21,455,000
= 21,455,000
LHEZE22ME HE 500,000 0 500,000
403 XMXISHMS 20| 500,000 0 500,000
01 XIXISHMAZ2E xR 500,000 0 500,000
OUEEEAME JIS8TZAF 8 € 22X XS
g4 1,000,000, 000& *50% 500,000
HE2sd SN HPS 170,000 200,000 30,000
207 S FOH | 170,000 200,000 A 30,000
01 gAY 170,000 200,000 30,000
OUESs2 SHXY §Y 29 170,000
HAAF R &2 200,000 0 200,000
= 200,000
401 AlEHIZLL20H] 200,000 0 200,000
= 200,000
01 Al&HI 200,000 0 200,000
OMBIAF JE =2 200,000
& 200,000
eSS 22T =Z 4 1,200,000 0 1,200,000
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= 1,200,000
401 Al&HI LSO 1,200,000 0 1,200,000
= 1,200,000
01 AlZHI 1,200,000 0 1,200,000
OEs 2232 1,200,000
= 1,200,000
NEET S BHUENE LS 350,000 0 350,000
207 AN 350,000 0 350,000
01 g2ESH] 350,000 0 350,000
ORI SLRNY +2SY 350,000
SAAHE 22 4,557,000 1,675,000 2,882,000
7 = 4,557,000
L HE PRl YLEA 50,000 65,000 A15,000
= 50,000
202 (4Hl 5,000 20,000 A 15,000
2 5,000
01 2UjoiH| 5,000 20,000 15,000
OMgRIst R 22l 5,000
& 5,000
308 MXISHHSOIH 45,000 45,000 0
& 45,000
01 AXEHINELS 45,000 45,000 0
OMgRIst R 22l 45,000
= 45,000
HE RS =BIX& 4,507,000 1,610,000 2,897,000
= 4,507,000
403 XXM SA=01H 4,507,000 1,610,000 2,897,000
2 4,507,000
01 AXSMIA2E = 4,507,000 1,610,000 2,897,000
OMERIS RS FOIX B AL 4,507,000
2 4,507,000
of =4t B 23t 4,732,676 3,956,845 775,831
= 918,000
= 3,338,700
= 475,976
gerate] o oHeFEE A 4,702,676 3,956,845 745,831
= 918,000
2 3,338,700
= 445,976
HOLEHIAIY XI& 2,888,576 1,977,950 910,626
= 2,558,700
= 329,876
403 X HMSAH=01H 2,888,576 1,977,950 910,626
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Ciol oloimel % BB A (pel @
SN (B) - MBEAY - B2 0 aF 0l S HRZS2
& 2,558,700
= 329,876
01 AIXSHHMAZ2EE 2,888,576 1,977,950 910,626
OHOHHHIALS 2,888,576
= 2,558,700
& 329,876
HE¥ESFY 22 K& 470,000 70,000 400,000
= 470,000
308 XMXIEHHSOIH 470,000 70,000 400,000
= 470,000
01 MXSHHENETS 470,000 70,000 400,000
OldEs A 2| 470,000
= 470,000
Wt 22X 160,000 185,495 N25,495
= 160,000
308 XXX SOI& 160,000 185,495 N25,495
= 160,000
01 AXEHMINBEEZ 160,000 185,495 N25,495
OZEAME s 2L X 160,000
= 160,000
HHIIZ2 HFAMY XA 345,600 576,000 A 230,400
= 288,000
& 57,600
403 XMXISHHS K20 345,600 576,000 A 230,400
= 288,000
& 57,600
01 XIXISHMAZE xR 345,600 576,000 A 230,400
OdlHI|I=2 ALY 345,600
= 288,000
= 57,600
MO oIkAL K& 838,500 847,500 29,000
= 780,000
= 58,500
308 XXIEXHSO0IE 838,500 847,500 A9,000
= 780,000
= 58,500
01 IXSHHIBMNBEEZS 838,500 847,500 A9,000
O& MG ol2FALS 838,500
& 780,000
== 58,500
=X 20 A4 30,000 0 30,000
=L 20 2324 L BT A s 30,000 0 30,000
207 Aol 30,000 0 30,000
01 A2EYH| 30,000 0 30,000
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